
SAP ABAP table RECP_ACTUAL_DEPOSIT_C {Actual Security Deposit}

RECP_ACTUAL_DEPOSIT_C

DPBUKRS [CHAR (4)]

DPACTUALTYPE [CHAR (4)]

DPACTUALPARTNER [CHAR (10)]

DPACPARTNERROLE [CHAR (6)]

DPACTUALCURR [CUKY (5)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 RECP_ACTUAL_DEPOSIT_C-DPACTUALPARTNER = BUT000-PARTNER 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 RECP_ACTUAL_DEPOSIT_C-DPBUKRS = T001-BUKRS 0..N

0..N
TB003

CLIENT [CLNT (3)]

ROLE [CHAR (6)]

 RECP_ACTUAL_DEPOSIT_C-DPACPARTNERROLE = TB003-ROLE 
0..N{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RECP_ACTUAL_DEPOSIT_C-DPACTUALCURR = TCURC-WAERS 

0..N

0..N

TIVCNDPTYPE

MANDT [CLNT (3)]

DPTYPE [CHAR (4)]

 RECP_ACTUAL_DEPOSIT_C-DPACTUALTYPE = TIVCNDPTYPE-DPTYPE 

0..N

1


